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Winter Addition

Solve the following word problems.

Elsa made 1 snowman and Olaf made 4 showmen.
How many snowmen did they make in total?

Sally had 1 snowflake decoration. She made 3
more. How many snowflake decorations does Sally
have now?

Johnny found 2 icicles hanging from the roof.
Later, he found 1 more. How many icicles did
Johnny find in total?

There were 2 snowmen in the park. Some kids built
2 more. How many snowmen are there in the park
now?

Anna had 4 winter hats. She bought 1 more. How
many winter hats does Anna have now?

There were 2 reindeer in the field. Later, 1 more
joined them. How many reindeer are there in the
field now?

Sammy saw 1 snowflake falling from the sky. Then
he saw 4 more. How many snowflakes did Sammy
see in total?

There were 3 penguins on the ice. 1 more penguins
joined them. How many penguins are there on the

ice now?
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